
 

 

Answer on Question #47199 – Math – Statistics and Probability 

When a die is thrown, what is the probability that the number is greater than 1, given that it is odd? 
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Solution 

When a die is thrown, 6 outcomes are possible: 1, 2, 3, 4, 5 or 6. 

By definition of conditional probability, the probability that the number is greater than 1, given that it is 

odd, is 

𝑃(𝑔𝑟𝑒𝑎𝑡𝑒𝑟 𝑡ℎ𝑎𝑛 1|𝑜𝑑𝑑 𝑛𝑢𝑚𝑏𝑒𝑟 ) =
𝑃(𝑔𝑟𝑒𝑎𝑡𝑒𝑟 𝑡ℎ𝑎𝑛 1 ∩ 𝑜𝑑𝑑 𝑛𝑢𝑚𝑏𝑒𝑟 )

𝑃(𝑜𝑑𝑑 𝑛𝑢𝑚𝑏𝑒𝑟 )
=

𝑃(3 𝑜𝑟 5)

𝑃(1 𝑜𝑟 3 𝑜𝑟 5)
=

2
6
3
6

=
2

3
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Answer:  
𝟐

𝟑
 . 
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